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MATHEMATICS

Time : 3.00 his Pant - | Marks : 100

1, Chaoose the correct irlswar 14x1-14
1. 1f there are 1024 relations from 2 ot A= {1.2.3,4.5 to a set B then the number af-'
@lements in B is L i

a) 3 by 2 c) 4 d) 8
2. n(A)=P n(B)=q,thenn(AxB)= _____.

¥

3 pta b p-a . ) pxg 2 i
: q
3 7=_____(mod100)
a) 1- 1 by 2 “0) 3 : d) 4
A L | S
g -2 s nfgifg'-'- ----- The next term of the sequence is
L 1 . 2 1
a) == s o &3
}_ = W, 2 .3 9. 3
1
5. Y ¥ VT is not equal to
4 7 . g 2. o 2
5 A i E 1 5 1
a b Y_+—) c ( ,,_J Hadisas [ —] -2
)P )( " ) (Y- 3 d (y+o] -2,
xBy 4,100
6. Thp square root of W is equal to
16 |x?2* g 16 16 [xz2
2leL 16| =X SedEs
: a) 5 . \/2 b) xz* 5 [xz2 15 d) 5
- 7. Graph of a linear polynomial is a gl
a) skaightline  b) circle c) parabola ~ d) hyperbola
8. In ALMN 2L =60°, z.fM =509, if ALMN ~ APQR then the value of ZR is
a) 40° - b) 70° c) 300 d) 1100
9. ifin AABC, DEJ|BC, AB = 3.6 cm, AC=24cmandAD=2.1 cmi.then the length of AE
is : _ -
a) 14cm - b) 1.8cm ¢) 1.2 cm - d) 1.05cm
10. The area of triangle formed by the points (-5,0), (0,~5), (5.0} is
a) Osqunits ~~  b) 25sq.u c) 5squ . d} none of these

11. 1f(5.7), (3,p) and (6.6) are collinear, then the value of pis
a) 3 b) 6 cJ' 9 A d) 12
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12. A sequance is a function defined on the sefof .

a) Teat pumbers by matural numbers
¢} whole numbers dy integers
13. Value of tann cosec?y - tan

a) sech by cot20 ¢) sind d) 0_0‘0

14, 5y . 5 . tonb. i %% - A
sect. @ ;gequalio

A
25 :
; - N Part- Il ;

. Answer any 10-questions. (Q.No.28 is compulsory) 10x2=20
16. BxA={(-2,3), (=2.4),(0,3), (0.4), (3.3), (3.4)} find Aand B
16. Find fog and gof when f(x) = 2x + 1 and g(x) = x* ~ 2
17. Finid the number of terms in‘the A.P 3,6,9,12 .......... 111
18. Findthesumof2+4 +6+ . ... + 80 i

19. Findthe LCM of 5x — 10, 5x2 - 20

a 25 b) 618 ) A

e D
t? -5t+6
21. Determine the nature of the roots of the quadratic equation 9x? —24x + 16 =0

22. AD is the bisector of ZA. If BD = 4 cm, DC = 3 ¢m and AB = 6 cm, find AC

20. Find the excluded value of the following expression

A

B 4cm D 3cm ¢

23 If AABC is similar to ADEF such that BC =3 ¢m, EF = 4 ¢mand area of AABC = 54 o,
Fnd the area of ADEF. : _

24. Show that the points P(=1.5,3), Q(6.~2), R(=3.4) are gollinear.

25. Find the slope of the line joining the points {5, V5 ] with the origin.



26.

27

28

T

29

30.

B8RS

39.

40.
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1+ 0086
Prove that \/11 CU&’V‘- = C0secH + cot

Solve 26¢ - 3x ~ 3 = 0 by formula method.

Find the equation of the line passing through the point (3,—4) and having slope 3;;

Part-1ll : e :
Answer any 10 queiiions. (Q.No.42 is compulsory} . 10x5=50
LetA={3.4,7.8), B ={1,7,10} which of the following sets are relations from A to B?
)R, ={B7). (A7), (7,10}, (8.1} :
i) Ry={(3.1), (4,12)}
i) Ry={(3.7) (4,10), (7,7), (7.8), (8,11), (8,7), (8,10)}
' X+2 x>1 '

If the function f is defined by f("‘{ 2 -1=x21 ‘find the values of
! : [X-fl}—3<)(<—l

) f3) i) 0y iy f(-1.5)" iv) 1(2) + f(~2)
31,
3.

The ratio of 6" and 8" term of an A.Pis 7 : 9. Find the ratio of 9t and 13 term.
Find the sum to n terms of the series -
5+585+555+ ...

13423433+ . +Kk3=44100,thenfind 1 +2+ 34 .. +K

. Find the GCD of the poly‘nqmiél 3+ x2— x+2and 23— 5x2+ 5x - 3
. State and prove Basic proporliqnality theorem.

. Find the square root of x4 — 12x3 + 4252 - 36x + 9

.18
. Without using Pythagoras thearem, show that the pomts (1-4).(2-3), (4-7) forma

Find the area of the quadrilateral whose vertices are (-9.-2), (-8, ~4), (2,2) and (1,-3)

right angled triangle.
If sind + cos6 = p and sech + cosecl = g, then prove that q(p? - 1) = 2p

Let f:A->B be a function defined by f(x) = = - 1 where A={24,6.10,12},

N

b'={0,1,2 4,59} representfpy
i) setof ordered pairs

i) table

iy an arrow diagram

- W) agraph

41.

Find the sum of all natural Mumbers between 300 and 600 whtch are divisible by 7.
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2 Solye « Vi T+ 2y-9=3

Part. iy :
iv. Answer.an the questions. y 2x8=16
43 a) Constrﬁm a triangle similar to.a given triangle PQR with its sides equal to % of
the corresponding sides of t.he triangle PQR. (Scale factor % ).
(OR)
b)  Construct a triangle PQR such that QR = 5 ¢cm, £P = 30° and the aititude from p
to QR is of length A2 cm.
44. a) Draw the graph of xy = 24, X,y > 0 using the graph
) Hx=3fndy
i) Ky=6, find x.
(OR)
b) A Two wheeler parking zone near bus stand charges as below.

Time in hrs. (x) 4| 8| 12| 2

Amount  (y) .| 60 | 120 | 180 | 360

Check lfthe amount charged are in direct orinverse var:atron to 1he parking time.
i) Find the amount to be paid when parkmg time is 6 frs.

i) Find the parking duration when the affiount paid is 7150

hkkkkk



QUARTERLY EXAM — 2023

0™ MaTHS ANSWER KEY

S. SANTHOSH KUMA4R ,,

RANIPET DIST.

Grys- QHETTmuNGML,
RANIPET DIST — 632 HOi-

= cp,mss THE CUIZREC'.‘T' ANSHER : @ 2 (\42434--- +H0)
| ® AR, 2 [n Cn-rO:l
2 p .
9 L(© PXxq. —
i o =
3 (@ ! p_x(; 2z ] s k
W e @] 50 = FO-2D
5 (W (.EH‘ !‘I (e : sxtao =5 (x+2)(x-2) g
7 @ | Stwight U G9 trwt+b =0
oy G- (t-2) =0
'q | et 0 BB Bt
o | ® 95 & @) A= bﬂ-—ﬂ-’f"c .tjﬁm |
| © q j= CEEARIRE ™ | i |
T T =0 4
f2 W natwal numberd || - he vooks one Yol and el
P
a
5 | @ C‘\""’_‘ @D By ugle Biasder azrens, |
| (0 25 A _ B2 a
T, ANSWER AN 10 QUESTIONS : At de ;
fery - i
" @ A= {_3; ti-j Ac 3 §
_ Ac = % = kT :
L, 3 |
B= { 2,0, } -1 9 MCAABC!,_ o L% —_g
@ Hg =202 41 = 222 o (AIEF) EF- }
B,
%O-F = @-1-\4)9'-—9_ =\§—'z.’2|-'+x~| { ﬁm » q_x.
: ” ,
@ a5 d=6s-3 A=l Aven (4 9EF) =G =6
| . ot s X e
bt h:QX_—-;l)-i-i @ |hen 4 sree=1 [y 3 42 | |
g | i
. 2 h =G i
l I n=37 .-Maivm Fuinl's ae Colinear |

~



T@ 8[0 m= Y
= thp=Tl > - 7
PQ . g - Q_\ @ 2 9
&t‘i‘&: o a=ad
L ,m:o‘b':-i;L a+rd 9
| s 7 s h -|_~|3 -,—__ﬁ_‘ - Q+9cg = _5:5-7
FlaCog o [(+%s8) . (1 +Cot€) | Ly, avad 74

Ti= 0:39/ {ie=g)”
i o) (32 | 5455 +555 - - -~ tn wrms

\<

2.
o = ___aQ‘:m;?% = %— S 1 4l A = +0 ooz )
1] L Flaemrar o hmns'j
= CoSec® +CotB- g
5 %"@u—q}(wo—\)i—ﬁm—\)"" - *""“ﬂ

@ =2 b=-3 6=-3
g = ~bt [ noc HC-Z-&)m T{Qoﬂno-mow pnkemas) — ‘ﬂ
50(«: 1) _5n

|
: | e 2(2) 5l
| ez 3%EE a L te—n j g\ 3 |

| s -
’ g 3tm 32— @ {W] = oo .—_(p.w)"
! | — 2 2
L b G
B e K~
‘ = —F (x- \t2434+ -t K = 2o
\ Y44 = (x-%) @ -
i B ATYHI =0 . A R—
| Y+ ] . 9_%3_‘;19__“5_1_3
f:m'_ ANSHER ANy 10 QUESTIONS:  fadibo 4o .6213% g

7 : o Zox T
63 AxB=1(50, 0D, G20, 07 "
L (o, @0 0, (79,80,8), @) = B |
| R & A = —1(Coxn)
\F %W,lSG\ﬂInhm fom A 0B
P

) (i) €Ry buk () EAX. - {L; =
1 Ro i8 noF o velakiso Fom At B, Vil RS 3
i | * ,(z; W) i :)c_s,u')q ] =) 5‘;_3 ﬂ?‘frax
| Gip (78 €Rs bt C‘T,&)A¢ XK. T
; 5 Ry isnda bty w0 A &2 o _go4e
y . " = [ [=>)
@U') ) @iy f-vs) ot 0% 12
‘ ) = A =21 5

#®) =5 ftp) =25 _—

Ly o) U -R:L)-]--P(-%'): W)= S = |

poy=o  (J09=m  Amzaq
o =1 =4 fe9=3) |




@ Pawsic Pw‘;oﬁmalﬁ'ﬁ e
= x
CWRles Nizwven) 4 phD =%t 6) (o tas)y)
A AU A | = (e -+ (s & +lus's )+ 2 8n6-Cose - 1)
D DB - e —@Ecs' "'CQEEI‘-S-) Ql/{—ﬂ_gi‘qg_ tosg /‘/)
=
Cdusa &'(ng) (28mg. tsse )
ey ’ i = Bnetls o, gnodee
@ . ! Ampoke i
', -6 +3 i
g Co we s6 1q | = (swette) |
l Po= 9.{—' {
3 =
—_ ey @ i{?-)fo fW=2 €5 |
2 -6 [=5] ?36 M= | -'F(_“JJ=L}
2 W €= {20, ch0, (6,2, Q%) 02,57
-3 ' 2147 [o]
e 73 /z(ﬂ.
/36 H'(u’ﬁ &
= I‘LL—Q‘Y_ i I E

@ AR,2) Bea-2 8-y P ,-D

. i 5 3014 308+ 315 - + BB
7 hﬂ\ Y =J 2 =1 =& Q=3cl Gl=-"f 1=5795
O E[z s g T ’-J “

(=) 8= L fa+t]

« ﬁ?—30| _ ke
"-L[(— q_ﬂg_'.g_q_,‘.g:) (- lg-l'\ﬁ—-lf-—'ﬁj:[ , L SH‘J TTa Dol *qu:l

= Maey
= 4 (5%42) =iC’°’=3531"”“’® Jﬁﬂis—" =3 i
k. - % +189
f ‘ y-5 = 3-fyR A
@ lﬂtﬁ(t,—ﬂ-) B(2,-3) C(w,-7) ok A“ruﬂ' w both Sides, —53\/__3
S[G‘IJ’L %, At = _"j:.":"“"_| =] 24-5 = (3-— r—)L —éc
7+ 2§-5 =9+y+1 —
' %Pa L ?r-i- =E y- |5'=-6,|FF fdmﬁ =63
‘l 7 ; T_aldna, !mr!_ ™ bath A ‘A» w ey e
o i = . : > -5 = (=6 w)" [ Y26y ignda
Slope 4 4% X Sle p Ac =D EH=-1 ¥ =309 4225 - 36 (y+) '

E
35-56 = !\‘.m gsh,s
AB L AC |4 =90 i cu«z;igfg s | ( Yy=3
L AABe 18 4 Fhdl. I, 4=3 ¥=63






43 (b)

4.2cm

(]

Sem :
Rough diagram

VL‘U




X (24|12 &6 ylz |21
{y‘ 2| = 463’“}_2]{.

12 Vaviation:  Todiveet Vaniadi

i3. Eauation - wy =K
| %y = 2UX] =X L=, .=l
WY =24

ir. Poivks :

(ok, 9, (2, 9—9,. (8,35, (6%,
(e8), (3,8, (1), Cyal)
:? Stfiction ;

| O Rae=3 theo y=§¢
?(h‘) ¥ y=06 then =y

)

| Taile ;
e
Tme io b0 | 4 [ & (12| 24

Aot £9) | 60| ‘0| 80| 360

. Vavidtivp:  Diveck Vawiativy

3. E\L&hﬂ) 2 =K

! B, y _60_120_ =I5
| e 3

|

i Y=g

3

!

Poinfe: (4, b0), (8, 120), 01 \80), (24,360)

5. Stlubis « : .
fU T the. por Hme js b ows,
[ P:f\'zﬁ wa}c = %90

!1) I?"ﬁnotmmi*ggc ie ?alc‘
g mﬂmf’_m\a/’cm_lohnm.

,




	1
	2
	3
	4
	5
	6
	7
	9
	10
	11

